YEAR 10 Advanced - Quadratic Equation Test

QUESTION 1

Solve for x:
(leave any non rational answers in surd form)

(@) 6x—x"=0

'(b) (x—-3)*=16
© E

(d) 3x2'~24$c.=6,0'

(6) 5x%—8x-+2=0

® Wiiex—
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QUESTION 2

Solve the following by using the "completing
the square"” method.

(a) x*—-10x=-7

(b) 2x*~10x+5=0

QUESTION 3

(a) Arectangular garden 12m x7mis.
surrounded by a path of uniform width.
Find the width of the path to the
nearest cm(te 2d.p.) |f the area of the
path is 24m?.

12m .

(b) A watch makmg company with
manufacturing plants in Australia and
Japan can produce 1000 watches per
day. If it costs $45 to produce a watch
in Australia and $30 in Japan, how
many watches can be made in each
country to have an average cost of
$34.50 per watch?

(c). The he[ght of a bal[ above the ground,
thrown vertically-upwards is given by:

h=30f - 5¢

- (i) Find the-time, t, elapsed before the
ball reaches a height of 40 metres

" (i) Find how long before the ball falls
back to the ground.

(i) Find the maximum height

QUESTION 4

a) Find t-he value of k which would give

only one solution.
2k +15x+20=0

b) Find the values of k for which
X2+ 6x + k=0 has no solutions.

¢} Write down the quadratic equation whose
roots are . _%, & —1°. Your answer should
3 4

be in general form with no fractions

QUESTION 5

(@) If a*—a?b*+ab®—a’ = 0 find the values
of a that will satisfy this equation

Y su st:tutmgj x°+ x =v, find all the
(b) By substituting x° find all th

solutions to the equation
(G )

~8(¢+x)+12=0
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